uenl) = f(0e o)

i K Y e £ S XX
e ze ((m) e 4 [eyed = y:\,f)’

e 409 => [ay) €4




) Lt eaele |
5) € ~demdenity => 4 (C) - Aomdemifly

L)\/Q(‘il]o(gng : l@%;gxdgzg\@(ﬁ)

Iy pcx - HE) C HA)
DY 8 ST flhep) & W ATE)

Momandy e X ——é’?\/ yee

-

}é/@@ EYEROERZTEY g AU C (/]

W) /# W{(L Cc;«(cy[e yesAe
et axgle W Vamdipn pnfee.
Padanie |1 NMuech {Udl,, bodri
dtwfy-ili\/m M\M@M @ uW/L"”A’Zg
v by st cole (55 Ve T by

ot caale . (OU) =), AV IVEDK)Y e
o e (004) =V NEDY, <er)




%75\//('(/{ o J\\/ C‘“QZWLOXM X ’i9>’ )

D Do topologu Wﬂ%@ €
@{(\” \%Kéx

v {70 3020 i) <O S

@DMMM WM“’%
UK, &) o WS W<y ) oy

e %(’YC*L/7(?< Y ’—7 f)< g(y)

fnie, ¥ < -—-7><é(}/>
W@ x7<m

Mx)e 4UyY) SUHG] = £e) < gy
Mdusrotinee @(A) 4((/@«) X)), Toroe

€A X€
2 zoclioryrsarn guass porzeddac frecre s
ofévz\(mw \/CZ{LLY)é PR LIS %(Z)QZ['V)

=S ve L) Bl 4= 4 X)CUW/»«)

Xe/H
SN
@ blo=1¢, vy =>*>1 }‘M@W

=y



D Ox)=2 => x5y jaf v
casle

o) ={¢ K] Yt T

= (\X 5y el Cagle (=) test ke
tan. 4 (K) = «(70‘)> et Irxe X e o)
L) Akey 3fx) =

ce { ’(W?X‘ =4 (Ul)é»{cb Xj

&zf_/g[wa R R ) =x?, Pelr

Komforpreyddad - [0, 1] 25 ! x+»>é"f Xes/t
azl'oy aphog, ) ole 18y MM{ me g@({t qu(q/{&



